
 

 (A-4) P. T. O.  

Roll No. ...................................  

DD–2075 

M. Com. (Final) EXAMINATION, 2020 

(Optional Group—D) 

(Taxation and Accounting) 

Paper First 

TAXATION IN INDIA 

Time : Three Hours 

Maximum Marks : 100 

uksV %uksV %uksV %uksV %    lHkh ik¡pik¡pik¡pik¡p iz’uksa d¢ mŸkj nhft,A izR;sd bdkbZ ls ,d ,d ,d ,d iz’u    

djuk vfuok;Z gSA lHkh iz’uksa d¢ vad leku gSaA 

 Attempt all the five questions. One question from each 

Unit is compulsory. All questions carry equal marks. 

bdkbZbdkbZbdkbZbdkbZ&&&&1111    

(UNIT—1) 

1- vk;dj ds fy, djnkrkvksa dk fuoklLFkku fdl izdkj fu/kkZfjr 

fd;k tkrk gS \ fuoklLFkku dk dj nkf;Ro ij izHkko 

le>kb,A 

How is the residential status of an assessees determined 

for income tax purpose ? Discuss the influence of 

residence on tax liability. 
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vFkokvFkokvFkokvFkok    
(Or) 

,d O;fDr ls lEcfU/kr fuEufyf[kr fooj.k ls mldh dqy vk; 
,oa dj&fu/kkZj.k o”kZ 2019&20 ds fy, ns; vk;dj dh x.kuk 
dhft, % 

  ` 

(i) edku lEifŸk ls izkIr fdjk;k 2,00,000 

(ii) nh?kZdkyhu iw¡th ykHk ¼vkdfyr½ 30,000 

(iii) Lo;a ds O;kikj dk ykHk 3,35,000 

(iv) ykWVjh ls vk; ¼ldy½ 15,000 

(v) ‘kq) d`f”k vk; 40,000 

From the following particulars of an individual, calculate 

his total income and the tax payable by him for the 

assessment year 2019-20 : 

  ` 

(i) Rent from letout properties 2,00,000 

(ii) Long-term capital gain (Computed) 30,000 

(iii) Profit from own business 3,35,000 

(iv) Income from lottery (Gross) 15,000 

(v) Net Agricultural Income 40,000 

bdkbZbdkbZbdkbZbdkbZ&&&&2222    
(UNIT—2) 

2- fe- thou dj&fu/kkZj.k o”kZ 2019&20 esa viuh lEHkkfor dqy 
vk; ij ` 60]000 vfxze dj tek djkus ds fy, nk;h gSaA 
mUgksaus fofHké frfFk;ksa ds vuqlkj vfxze dj tek fd;k % 
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  ` 

(i) 15 twu] 2018 dks 6,000 

(ii) 15 flrEcj] 2018 dks 16,000 

(iii) 15 fnlEcj] 2018 dks 16,000 

(iv) 15 ekpZ] 2019 dks 22,000 

mi;qZDr lwpuk ls dj&fu/kkZj.k o”kZ 2019&20 ds fy, fe- thou 
}kjk vfxze dj pqdkus ds LFkxu ds fy, /kkjk 234 (C) ds 
rgr ns; C;kt dh x.kuk dhft,A 
Mr. Jeevan is liable to pay advance tax ` 60,000 for his 

estimated total income for the Assessment year 2019-20. 

He has deposited advance tax on various dates as 

follows : 

     ` 

(i) On 15th June, 2018 6,000 

(ii) On 15th September, 2018 16,000 

(iii) On 15th December, 2018 16,000 

(iv) On 15th March, 2019 22,000 

Compute the amount of interest payable by Mr. Jeevan 

U/S 234 (C) for deferment of payment of advance tax for 

Assessment year 2019-20 for aforesaid information. 

vFkokvFkokvFkokvFkok    
(Or) 

ßloksZŸke fu.kZ; dj&fu/kkZj.kÞ dk D;k vFkZ gS \ ;g fdu 
n’kkvksa esa fd;k tkrk gS \ D;k ,sls dj&fu/kkZj.k ds fo#) 
djnkrkvkas ds ikl dksbZ mik; gS \ 
What is “Best Judgement Assessment” ? In what 

circumstances can it be made ? Are there any remedies 

open to the assessee against such assessment ? 
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bdkbZbdkbZbdkbZbdkbZ&&&&3333    
(UNIT—3) 

3- th- ,l- Vh- ykxw fd;s tkus ds ckn dh fLFkfr dh leh{kk 
dhft, ,oa lq/kkj gsrq lq>ko nhft,A 
Evaluate the position after implementation of GST and 

make suggestions for improvement in this regard. 

vFkokvFkokvFkokvFkok    
(Or) 

eky ,oa lsok dj vf/kfu;e ds vUrxZr iath;u dh fof/k 
le>kb, rFkk iath;u djkus ,oa u djkus ds izHkko crkb,A 
Describe the procedure for registration under GST Act. 

Point out impacts of to get registration or not. 

bdkbZbdkbZbdkbZbdkbZ&&&&4444    
(UNIT—4) 

4- jktJh b.MLVªht fy- ¼bf.M;k½ us 15 vDVwcj] 2018 dks 
vesfjdk ls dqN ikVZ~l vk;kr fd;s] ftuds fy, iwfrZdrkZ us 
2700 MkWyj pktZ fd;sA ;s ikV~Zl gokbZ tgkt }kjk Hkkjr Hksts 
x;s ,oa gokbZ fdjk;k 760 MkWyj pqdk;k x;kA ekxZLFk chek 
izhfe;e 104 MkWyj pqdkbZ xbZA iSfdax O;; 50 MkWyj Fkk tks fd 
mi;qZDr ewY; esa ‘kkfey gS % 
dj&fu/kkZj.k ;ksX; ewY; Kkr dhft, ;fn fofue; nj 1 MkWyj 
= ` 43 gksA ns; lhek ‘kqYd dh jkf’k crkb, % 
(i) ewy lhek ‘kqYd 10% 
(ii) ,dhdr̀ th- ,l- Vh- 5% 

(iii) lkekftd dY;k.k vf/kHkkj 10% 
bl izdkj ds ikV~Zl Hkkjr esa ugha cuk;s tkrs ysfdu blds tSls 
eky ij Hkkjr esa 5% dh nj ls th- ,l- Vh- yxrk gSA 
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Rajshree industries Ltd. (India) imports some parts from 

U. S. A. on 15th October, 2018 and the supplier charges 

2700 Dollars. These parts  have been sent by Air Service 

and Air freight has been paid 760 Dollars. Transit on 

insurance premium was paid 104 Dollars. Packing 

charges were 50 Dollars which included in aforesaid 

price. 

Find out Assessable value if the Exchange rate is 1 Dollar 

= ` 43. Calculate customs duty payable if : 

(i) Basic custom duty is 10% 

(ii) Integrated GST 5% 

(iii) Social welfare surcharge 10% 

Aforesaid parts are not manufactured in India but goods 

of such types are taxable @ 5% under GST.  

vFkokvFkokvFkokvFkok    
(Or) 

fdu ekyksa ds lEcU/k esa lsuosV ØsfMV fn;k tkrk gS \ D;k 
,slh dksbZ lhek gS] ftl rd ØsfMV fn;k tk;sxk \ ;fn ,slk 
gS] rks lhek,¡ D;k gSa \ 

In respect of which goods CENVAT credit is allowed ? 

Are there any limits up to which the credit shall be 

allowed ? If so, what are limits ? 

bdkbZbdkbZbdkbZbdkbZ&&&&5555    
(UNIT—5) 

5- fu;kZr dh izfØ;k le>kb, rFkk lhek ‘kqYd vf/kfu;e] 1962 
ds vUrxZr fu;kZr fudklh esa lféfgr pj.kkas dks izxf.kr 
dhft,A 
Discuss the procedure for export. Enumerate the steps 

involved in export clearance under the Custom Act, 1962. 
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vFkokvFkokvFkokvFkok    
(Or) 

fuEufyf[kr ij fVIif.k;k¡ fyf[k, % 

(i) Mkd }kjk eky vk;kr 

(ii) vk;kr eky lwph 

Write notes on the following : 

(i) Import by Post 

(ii) Import Manifest 
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